INSTALLATION INSTRUCTIONS

LAl Ol =i

Attentions:

1- The lamp must be installed in rated voltage and assure safety earth for class | lighting products.

2- Installing and fixing the lamp should be processed by professional under the condition power off.

3- If the external electrical wire damage please changed by the professional in time in case of any danger.

Ayl el Jungi (o AAlilg U_idoll A el i a 6jUMI 6ang winiiciny —|
ibranihuil Jns Uo a5l Go Uaine wpio dhauwlgrcuplillg Lusill duloc i Uluiny —f
GojWIl oMl Wlelpal oLl uaine (i Ua Jnilyaa i agag of ddiol GSUra sl ey weli sl tgan aic —

RECESSED LINEAR LIGHT INSTALLATION STEP 8y Gungyoll Gun Al LAY LA )i Glglas

(@ihsatdl sl
N Blue

(GLpalludl
L Brown

power supply

(1): Cut off the power then open a hole in the ceiling, based on cutting sizes on product label.
(2): Install the electrical wires with the main power as per FIG2.

(3): Press on the clips by hand to install the product on the ceiling as per FIG3.

(4): Tighten the fixture well, then switch on the power.

Qlioll@nlo ule degrinoll adI lwlé o Liinn @ 1L dais uasd) b d oilasl il Eahi ()
[ 8)0:0JUaNG0 g0 lod ious ! Uil el Go AsUra sl LWl syD b ()

P 6)00)UaNG0 ga Lo &l Qlioll syl agl Wliddoll ble sy s ()

S nll Ul Jengi o o I @lloll i (o 25U (€)

INTERCONNECTION ACCESSORIES LIST FOR 15W&20W kg r & klg 10 J Jungill ldale doild
Cupiilelyilie €l ey walallyuAlsll ol el
# Installation Buckle 2PCS M4 Screw 4PCS Blocking Filter 2PCS Hexagon Wrench 1PCS
g
—
S
INTERCONNECTION ACCESSORIES LIST FOR 30W&40W hlg & & kalg P+ J Jrngill tldale doild
cyiileluiio ErDTL}.I':J.{ alallyuslll owlh el
# Installation Buckle 2PCS M4 Screw 8PCS Blocking Filter 2PCS Hexagon Wrench 1PCS

L/ 7/ x JUAbil Jungill Giléale A@clho wing . ks 6angll Jungi Wiléialoel olel Aol
ABOVE LIST FOR INTERCONNECTION ONLY, FOR L/T/X CORNER CONNECTION ACCESSORIES SHOULD BE MULTIPLED

(1)



INSTALLATION INSTRUCTIONS

LAl Ol =i

INTERCONNECTION INSTALLATION STEP JagiJl ldale LAy tlgha
l owhwlioepl

®<“~7Hexagon Wrench cnfilleluiio
&) Installation Buckle

£rol ey
M4 Screw
6ang)l oL
End Cap
qAll bl
D The Diffuser
Lol
€rol ey : / Blocking Filter
M4 Screw —

(1): Remove the end cap, then take out the diffuser as per FIG1.

(2): Insert the installation buckle to the one end of the fixture, then screw tight on the fixture as per FIG2.
(3): Screw tight the installation buckle to the other end on the fixture body by M4 screw as per FIG3.

(4): Paste the blocking filter to the interconnection portion to prevent light leak out before put on the diffuser.

16)gnluango ga los,.gAll il elabod d.0aagll o Uaé ddljL s (1)

[ 6)90)U Arg0 ga loh 6309l ble PLAnb Aayl (b gl o A Al o cupdilleliiio Jhabos )
P Al 8 6g €o] ey dnwlgy 6angll punn ode pallw il le plaal il eliiio sy o ()
@Al U Ve A ng 1 cquall i Kol Ailho Lo Lalallyuslsll fuhdg o (€)

Warning
- This series work with only their external drivers.

- Please keep at least 75mm vent around the fixture.

- The use of this fixture should not violate any fire protection laws and regulations.

- Under no circumstances should the product be covered by thermal insulation pads or similar materials.
- Do not install the product above high-temperature objects or humid places.

- When the product work is abnormal, cut off the power supply quickly, then contact the store.

ClpAn
11 d o aunjlall paudiun Eo Josi Wwlaiioll oaa Al —

6219l Jga J6Ul bde oo Vo duga daio) MLainul oy —

&1l o Gulonl QSlglg Uulg s (5l jlanl 13 a olaiwl elaviy Uiciny —
|5| iloo 2lgo 91 8l l djle Wialwg Qdioll G i g Al (Lo LA ST vin Gseti) U -
/// \\\ Ay abol of dle 6)la daga wila ol 9o Qliodl Cruiii i U —

Jiolydnil di g uran il &hd) s =i He dlioll Joc Ugh) Loric —

ECEAB L @IP20

AC220~240V, 50/60Hz, Class II, IP20, ta45°C 2)



